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Note :

iy :

COMMERCE - au@ery

PAPER - 1II qu - III

This paper contains four sections. You are required to attempt all of
them. '

Su- WAAYLHL AR [Qowdl 8. ddY oel [QewdlinAL Aenidl walel duidtel

Note

9

Section 1

: Read the following paragraph and answer Questions (1-5) given below

in 30 words each. Attempt ALL the questions. [Marks : 5x5=25)

AN V2005 aifl 20l €35 wsl (1 4l W) AU wus 30 WLl

2LUL UL USHAlAL walsL BULL

Knowledge society, according to Peter and Drucker, is defined as a society

which has the following : |

L Borderlessness because knowledge travels even more effortlessly
than money.

IL. Upward mobility, available to every one through easily acquired
formal education.

III. The potential for failure as well as success. Anyone can acquire
the “means of production”, i.e. the knowledge required for the job,
but not everyone can win.

The tvéenty first century belongs to the knowledge society. Therefore,

nations will build themselves into knowledge societies by understanding

the dynamics of knowledge and transforming it into wealth.

Knowledge society has the following distinct characteristics.

I It uses knowledge through all its constituents and endeavours, to
empower and enrich its people. ,

1I. It uses knowledge as a powerful tool to derive spcietal
transformation.

III. It is a learning society committed to innovation.
IV. It has the capacity to generate, absorb, disseminate and protect
knowledge and also use it to create economic wealth and. social

" good for all its constituents.
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During the last few centuries, the world has undergone several sociél

transformations. It started as an agricultural society where manual labour
was the key factor and the economic growth was dependent largely on
natural products such as raw materials as well as agricultural products.
With the advent of industrial revolution, economic progress was propelled
largely by technological development leading to machines, replacing human
resources.

India could not reap the results of the Industrial Revolution as the nation
was ruled by foreign powers during those decades. However, licensed
industriall institutions did emerge.

This society added value to its products through explicit knowledge, which
is technology, to produce industrial products that led to the economic
growth of nations. Thus management of technology, capital and labour
provided the competitive advantage to bring about this transformation in
economic growth.

The world has already moved into an information society. The society
derives its economic growth by further value addition to the explicit
knowledge through networking. Connectivity and software products are
now deriving the economies of the nations in this society.

Tomorrow’s world would be one which would recognise knowledge in its
most comprehensive form and add further value to the products through
innovative knowledge intensive products/services in a networked ambience.
These knowledge products would largely contribute to the economic growth
of nations.

The precious assets of a country are the skill, ingenuity, imagination and
civilisational strength of its people. With globalisation triggering
competition, the key distinguishing feature will be the ability of people,

“in different countries, to invoke and use these native strengths to their

full advantage and provide the much needed competitive edge. This

subjective knowledge, heuristics, imagination, and all those attitudes that

Commerce-TII 4




make us human, should be integrated for laying the foundation for
enunciating plans corresponding to their requirements and competency.
This knowledge, with further learning and training in skills, would provide
the quintesseﬁtial intrinsic strength to be competitive. This would be the
key for economic growth and national strength now and well into the
future.

In the 21st century, knowledge is the primary production resource, instead
of capital or labour. Efficient utilisation of this existing knowledge can
create comprehensive wealth for the nation in the form of better health,
education, infrastructure and other social indicators. The ability to create
and maintain the knowledge infrastructure, develop knowledge workers
and enhance their pfoductivity through creation, nurturing and exploitation
of new knowledge will be the key factors in deciding the prosperity of
knowledge society. Such a knowledge society has two very important
components; societal transformation and wealth generation. India can
trasform itself into a full-fledged knowledge society and thereafter into
an integrated knowledge economy within a decade by leveraging its unique

competencies.

ReAlalia qeunl qifl, viddl 2uddar WA usHdil G 2l

-

YI2R 87 M Hor, attr-AHty-l vyl qR1ddl qiHl A suoidisdl

ANAYU WY

1. dldladal — sie 3 e, ARl sl v QA struud [
A5 6.

2. Gl — udeawSll Andl usiy A RARAd REw gl 1ds
wofastes Al wikd iy, |

3. [sadl au o ustdldll andl siS ua Aald “Gewlertd wex’’
— 2d 5 s1d we ¥33 sud Aadl w3, ug A B 4 M4,

sl uel A -+l AEL B, 3@ uAs S, sl AsABdA

WLl A YURAHL WA 5, Wdld A-AHBHL aSdR 54,
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Dl R RRre aa@isdal © ¢

e, Wil UAS 825 glL, L AR susi-dl Gualal 523 8 v ‘{ldl"ﬂ.
WA AUs A AYg sAUA WA 5 8. |

R Aaulrs u[‘zqci-t-\ ol[aaﬂa s, sl A Qd}dQlWﬁ Aaq a

| (amual s 8.
3. adlddl aaal sReg, Adl i umtmﬂa ALY 8.
¥. A Gt sl Sl s+, uuadd 213 8 siyar
i el wBd 8. deBUid, Wit UAs 825 W2 2ws Auk
uA wulrs eig s A -l GudldL 52 S,

- Bedl aells udlolni Rsai vl wlrs wRadd sued 8. 4w
a1y a3 Al uzsud ad cul wRs ax Yo wan o A s

e dAy geadl Aetw agt 5B Vet w2 s Rs- SR edl.
elBLs st 2oL olte, Hieclld Aadia 2, el wﬂqx«ﬂ
dsm, uiBis Qs ks RsaA QoL el

A slustvll 3, oird 4 Rl i wad Sl s, ellBis
sl WRalA et iR Wl Al A4 Bdl wRaruysa el
Al Geeta ol udl.

L A, 2l RS QAsA Al el Yeiud Gowe sa-l

2l e st gl Wil et et qlz s v Ad 2uls

Rstami WRadA alaami, 250dio, 38l A Ax-AEAAL FAa walis
Al A,

Rea ¢d Rl wAn 531 sy B, ‘Aeasdl’ AL e A gkl
2L A Uit RS Qs e ay yeuqlg Aadl @l 8. sAsddlé’

A ‘Ag2A7 o Gouled, diL uHHl A gl efdAR el 8.

sadlsiasl [Reait st Al e s a3 tendl. wR-yel AR,
afne wagril-Aawil glaL, Aeafysd dldel s uwHl yeuqls
udl. v wr-Qeiell e wulls Rsui QAN 32 sl 2uud.

gl Heudis BRsumdl N2d Slued, ags, seu-udlad 2in Al wen-ll
AesR-uld. daclsadl Geaddl wald wReud, gel el 2w disil
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RMS B Wi 53, Al YAIYRA @iet Gsiaql A Az walows
AT Anadl, A ¥ you Raawa «Q. |

il el i, ANRAHS, sey-idldd 2R sy Wadly siruadil
Ad qRi2iA AR 530, Al Guala, disi-l w3RAA B uldA Asifa
U2 PRIl WAL Aol 5l WS, ML 2, QAN e »A Saucurd
clelli 0, QAn walets gairll widRs ala YRl wsd. 21 2u %,
gl Ulls Qs 2 2us ulBd w2 ¥ A efayui wdlzu ol
WA,

AsfluHl AL, HEl Al Hun oied i AN Al Goulet-uan ofl
AY B. U adil Guasy stiei-il sidan GuAidl, 6ddR are, [haw,
Aidan] AR vt WA Addi-u @3N, 2u-dl 2uns ARy Gowen
50, Al Aid1-UALUA oriadl 2R Al uBd, Ait-sielisl
@Asid AR Al el Gy, Anaell 21 Agiaq gt auel Gewesdil
quidl, A o it A WS Ui Yoy Wadl WA, uA Wt
AHAL A Yoy U B : w5 wRadd A AU Gewed. ouRd,
A eystll vie, Wl Qe 1Al Gay« sudl, Wdaid -y
A cloUe YoUBd - orudl w3,

Questiohs :

- What do you understand by borderless society today ?
gl Aselul ALURGA Wl o 2 wu @ ?
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2. State the relationship between kndwledge society and economic

development of a state. ,
Al URls Qs v ALY 9 ol el & ?

3. What kinds of social transformations have taken place in the process of

|

i economic reforms in India ? }

3 olldul 2By gt wBEAL e sdL usiaAl s wRadq aul
|
\
|
|
|
|
|
|

Commerce-II1 , k 8



4. What is knowledge management ? How has it been tackled in Indla in

yester decades ?
‘A’ wed g ? dlddl slustplidl tudHl z?tvu 58 A 6w

Uqdl sl ?

'_5. How does knowledge management generate the value addition in the

industrial arena ? Elucidate with an appropriate example.
ellBs aotul sur-daan 6§ d yeuqls 53 8 ? Yoy Gatew 2l

AHAAL.
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‘ Section 1I
Note : Answer the following questions in 30 words each. Attempt ALL questions
(6-20). (Marks : 5x15=75)
Al A e3s UHlivil FUS 0 KL Auil. UL % UsHinl FUS G,
($-0) (12 W x A4 = Ou)
6. Give a brief account of demographic environment of business.
darl Q- Quus walaasl ARd RdiR suul.

7. What is meant by “structural retrogression” ? Explain with relevant

statistical information.
Capaudly, WRIMA N2 g ? Aoild Aissifly R wd Al

Comﬁerce-lll 10



8. Explain fully the implications of the decision of “Garner Vs. Murray”.
ud @, 37 A ala YRl w@da xal. | :

9.  Differentiate between laws of variable proportions and laws of retums
uRaddsla siquid-l Fud 23 aad-u Radd-d asiad saldl.

4t
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10. Differentiate between price skimming and penetration pricing strategies.
et Aa-R Bad o 3 A vie ¥Al oy Bud yed-usdl
dstaa euldl.

11. What do you mean by level of significance and critical region in sampling
studies ? Explain w1th the help of formula. I
el YAl oAl Aol Uscarl Aolud, 7 aur “lAilus- A’
Al Al 2 AU B 7 Yourll A Al

Commerce-III 12



12.  What is the relevance of two-way ANOVA ? How is the F-value calculated

in two-way ANOVA ? You may use example.

Rl ‘Aeliat’ o g Hewt § 7 Budll ‘A’ ul Ng-Heurll aal

dl A wd D7 dd GelseAdl Guaial s usl.

13.  Vhat do you mean by organisational culture ? Explain.
dRold AgAAL di g el 52 9l 7 AHdl.

Commerce-111
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14,

15.

“Management is an Art and Science both.” Comment.
Qaiad A s vA [Qaud oid 8.7 Rvasll s

“Marketing is creation and delivery of standard of living.” Comment.
“IRo waqaieidl L wA AluRl 8.7 sl s

Commerce-III : 14



16.  Briefly explain the techniques of inventory control.
Sravedl-vigudl uglazil sui AnAal.

17. What is the relevance of vestibule training ?

RAoyuia diellu-dl Guuiolar g 8 ?

Commrce-TI1 15
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18. Explain the functions of Reserve Bank of India.
Aod s aiis SFsuw-L sl anendl.

19.  What is the concept of NPA ? Also give the norms for scheduled Comnercial
| ‘ Banks regarding non-performing assets. ,
AL v g 8 ? Air-ursiflo Ade 200 fisyes suRluadis
iRl wudl.
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20. Briefly explain the product life cycle theory of International

Business.
viadly Aui-l Vsl-wat-As Rgiar sl AxAal.
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Note :

Y :

21,

22.

23.

Section III

Choose any one elective from Electives I to V and answer all the questions

(21-25) of the same elective in 200 words each  [Marks : 12x5=60]
Rsew (2 ol W) Hiell As QAsey yaie s 2R A % [Aseusn s % Us-l

(32 ol 24) - wae eisdl 00 weel YA L.

Elective I 9dsdla I
(Accounting and Finance) (Rauell » -uaidla)

Explain about the procedure of setting the Accounting Standards in
India. '
olddl Raell €l Asfl sl uBal wxendl.
Differentiate between Money Market and Capital Market. What is the
present status of India’s secondary Capital Market with regard to trading
and market capitalisation ? Elucidate.
“qrail oo’ A 4Gl oo’ a4 dsldd S AWR 115132'&-11
deolil oud-l N2 Y&l aAnd aduit @ g S ? uuAal.
What is ‘Derivative’ in the capital market. ? Give the list of different
derivatives available all over the world for trading (or making the
derivatives contracts). Which derivatives are available for players in the
Indian Capital Market ?
4O sl 80Qdan” 48 7w Rsasi R W2 (aaL S?.'la.élqab
52U W) Guaes et el $NAdan-l wel .
Explain the following in 50 words each :
@) ADRs;
(i) Mutual-Funds;
(iii) Social Accounting;
(iv) Factoring and Forfeiting.
Al AASA YO AotiHL AHAL ¢
G AR
(i) WMYYA $S
Gii)  uulys [Roell
)  ¥%eToL A F1RFSEL
What is risk in the Inveetment. market ? What are its kinds ? How is
it measured ? Explain.
AUSIA GAWUL AvA g, 8 7 Al su usA Q ? A 59 Ad ww
8 7 anadl.
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21.

22.

21.

22.

23.

25.

21.

Elective II 94dsdla 1I)

(Marketing) (W)
How do you plan promotion efforts for goods of mass consumption in rural -
India ?

ALY UL Fruysiarll Guetiddl axgil-it mcwe-t«ﬂ oyl 35 Aa
5 ol ? :
Describe the process of market segmentation.

oo -Reuos-l ulBuld ael+ su.
Discuss major strategies for pricing.

BFaud. Raladl yuy el aal s,
Examine the mechanism of direct marketing.

nud on-BFudl sifugld dwail.
Write a critical note on sampling plan for a market survey.

oot udael W2 AU U Astois «lg avil.
Elective IIT $dsdla 11

(Human Resource Management) (Ml-q 8-l AAd-)

Why is the role of human resource managers in India changing fast these
days ? Discuss with appropriate examples.

GURAAHL W AR Hrd A duasi-l oist slani asudll seatdl A

8 7 yuioy GelewAl 2udl qal 3.
What do you mean by labour welfare ? How can you make these measures
much more strong in India ?

w2 senRtell dd g el 5 oL 7 il Guysd Guidl HUESIA Ay WAL
ouddi 3l A Hwed s ast ?
What is job analysis ? How does it help in measuring the job requirements ?

std RsAve 2d g ? s1d 3R wvelldi A 3l Ad Gual
8 7 |
Explain the nature of interconnectedness between morale and product1v1ty

PRAUNN A GUlesdl Al YU Asiadll WS ANAAL.

Compare and contrast performance appraisal with merit rating. How far
both of these are useful in large sized industrial units in India ?

Wl s1RElRAN Boud 3edissl 0d avudn [Qiaeu saldl euda

W2l e+l elBls sl 2 oin 328 2iQ Guuill & ?
Elective IV (§dsda 1v)

(International Business) (aic2 Aln d{l“lR)
Define MNC. Describe its role in less developed countries.

o g Su-llali-ll cnvn 50, weusRid tanl a-ll ofist aslal.
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22,

23.

24.

25.

Why is Regional Economic Integration necessary ? What are its various
forms ?

wels »ulls Adsa-dl ¥3Rud w w2 3 ? d-w QR (gl 54
¢ ?

Explain the concepts of TRIPS. Why “Intellectual Property” needs
protection ?

Al vyld A1, Wilzs RS esbiu 8@l ¥3RuUld W AL
o ?

Explain briefly fixed and flexible foreign exchange rate with their respective
merits.

Ry A yRad-lla @Rl RARHY e d-l Aoifad el WA Zsui
Al

Write a note on Govt. policy of regulations for Foreign Institutional
Investments.

[ARall dreeudly s v-u Rl @S- as AR ¥R <la @il
Elective V 9d58la V

(Income Tax Law and Tax Planning) (3125331l SI4€L A 53 Udl¥+1)

21.

22.

23.

24.

25.

What are exempted incomes under the Income Tax Act 1961 ? Give at
least three illustrations.

2UASA AU, 15T Q60 56 aAsiA YR duunl 2udd S 7 gl

9L 20 GeleRLl VUL,

Explain fully the terms previous year and assessment year under the
Income Tax Act 1961. Illustrate your answer.

WIASAL AU 15T, 6 “Usg A’ i Cvustell i’ L ugin

yol N wuAdl. Gels@ ARA Gu 2uul.

Explain fully “Perquisites” and “Profits in lieu of salary”. Illustrate your
answer.

‘ "lllsll.ﬂ"l MBS aLodl’” VA Aeteinit seerni sl A Ayl A AHAL.
Gely: z‘nv AR Gur 2l

IHow d'oes tax consideration influence make or buy decision ? Ilustrate
your answer by giving at least three examples.

torlad sadt udled”” A Aefud 52 a@dl dl Ad uewfd 53 9.

dHLRL atel 2ol i AR Gereel wudl AHAdl.

Who is a Non-resident under the Income Tax Act 1961 ? Explain the scope
of taxable income of Non-resident.

2asd AR, 15 dsn Bi-Rarld s 8 7 Bir-Rar(-l 52 wa
s, ol AUl

Commerce-I11 o 20
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